Apartment in Birkirkara



Birkirkara, Central



€255,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **92**

Reference No: 240231047-163

Bedrooms: 2

Apartment - For Sale - Birkirkara

BIRKIRKARA – APARTMENT Located in the heart of Birkirkara, close to all amenities, this second-floor apartment offers a practical and comfortable layout. The property comprises an open-plan Kitchen, Living, and Dining area, two double Bedrooms (main with en-suite), a main Bathroom, Residents also benefit from use of the roof. The apartment is being sold in standard finish and is partially furnished. For more information contact your RE/MAX preferred consultant.

Features

En Suite

Entrance Hall

Electricity Utility

Double Glazed

Rooms

Kitchen/Living/Dining: 7.97 x 3.96 m (31.56 m2)

Double Bedroom: 5.12 x 3.88 m (19.87 m2)

Double Bedroom: 4.04 x 3.44 m (13.9 m2)

Workshop: 3.04 x 1.8 m (5.47 m2)

Bathroom: 2.34 x 1.9 m (4.45 m2)

Bathroom Ensuite : 1.67 x 1.48 m (2.47 m2)

Hallway: 6.38 x 1.3 m (8.29 m2)

Hallway: 3.65 x 1.48 m (5.4 m2)

Gallery









Naima Rekik Caruana RE/MAX Centerparc - Qormi

M: 77026204

E: nrcaruana@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta